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Question Number : 1 Question Id : 762857156 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The operation which produces a poor surface finish is:
Options :

762857621, % Honng

762857622, % taper turning



762857623, v arc welding

762857624, % Lapping

Question Number : 1 Question Id : 762857156 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

594 ¥ g oo ¥ woaraeT ST Tadr e 3o g 27
Options:

762857621, % BN=eT (honing)

Uy ST (taper turning)

762857622, #

262857623, v T A= (arc welding)

99T (lapping)

762857624, %

Question Number : 2 Question Id : 762857157 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is INCORRECT?

Options :
762857625, % Fforced vibrations of a machine tool will spoil the surface finish of machining.

762857626, w TForced vibrations of a machine tool cannot affect the cutting tool.

762857627, % Forced vibrations of a machine tool can be reduced by vibration absorption methods.



762857628, % Forced vibrations of a machine tool may be caused by an unbalanced electric motor.

Question Number : 2 Question Id : 762857157 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
= #§ ¥ FiF I Fua T9d 272
Options :
mihet A5 (Machine tool) % 9Ra F9at & 397 & mebfeer Fr wady B (Sudace Finish) T
762857625, % &

62857626, « T H#SR (Machine tool) % YT Fua Faa HEX A 9fEd 78 T Foha £l

62857627, % 7ei HSW (Machine tool) % 3T #9w, F9a smanwr et am RS & o1 T H

62857628, % T AR (Machine tool) & SRE F9 o it AT H I § 3T T ¢

Question Number : 3 Question Id : 762857158 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a facing operation on a lathe:
Options :
762857629 « depth of cut is given by axial motion of the carriage

762857630, % the job must always be held in a face plate

762857631, % A reduction in diameter of the job takes place



262857632, % feed is given by axial motion of the carriage

Question Number : 3 Question Id : 762857158 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
@S (lathe) 9X AT ToOyereT &

Options :

762857629« TC T ""E"““é‘-: hiyaT &7 37efrT oify IR ?Eﬁﬁﬁ &1 Frar 3’

262857630, % IS @ FHAT FF ¢ H THIT A =TT

762857631, % S F T FH & AT g

BE (feed) Fra Fr iy a1y @wT T sar &

762857632, #

Question Number : 4 Question Id : 762857159 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is a proeess of machining gear teeth on a blank by metal removal.
Options :

762857633, % Hotrolling

762857634, v Hobbing

762857635, % Powder metallurgy

762857636, ® Lie casting



Question Number : 4 Question Id : 762857159 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

_ i & g e g, o A @ o e g e v (blank) R &
(gear teeth) TAffa fv = &

Options :

762857633, % ad deetdl (Hot rolling)

762857634, v PIEXVT (Hobbing)

TOT uTgeRiaen! (Powder metallurgy)

762857635. #

262857636, % T8 @NEeT (Die casting)

Question Number : 5 Question Id : 762857160 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A planing machine:
Options :

762857637, % -euts a slot of better surface finish than an end mill

262857638, %  has a reciprocating tool like a shaper
762857639, ¥ has multiple cutting tools working simultaneously

262857640, % can cut during the return stroke also



Question Number : 5 Question Id : 762857160 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

wfaeT @l (planing machine) & T8Y H 95 ¥ FiT T T g2
Options :

Serpsreay w T ENT U8 AR A G A SFe wad e A @ (Slots) FE T T §

262857638, % AR AW ST T TeAETHAT 3TRIOT (reciprocating tool) AT &
262857639, v FEH IAF FHdd HISW (cutting tools) TF AT FH FId 8

262857640, % T& FTCHTHAT HTETT (return stroke) & SR ff &E Fardlr

Question Number : 6 Question Id : 762857161 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The cutting of a metal part in reciprocating power hacksaw is accomplished:
Options :

762857641, % DY arotating wheel with cutting teeth

762857647, % Dy.a hot gas flame

262857643, « during forward (pull) motion of saw frame

762857644, % Dy manual operation of the hacksaw blade

Question Number : 6 Question Id : 762857161 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

TARTAT TIa g1 (reciprocating power hacksaw) & U1 & &7 T &t Fed A fo
STl g

Options :

., Fad & (cutting teeth) Taa AT et gamn

762857641.

62857647, % T8 IH T ST TR

262857643, v TR & WA (saw frame) @1 3177 (RBr=ma) 7f {forward (pull) motion} % 2=

62857644, % 3T & IE {hacksaw blade} & FFA=mford TRETelA IR

Question Number : 7 Question Id : 762857162 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tools in the furret in a turret lathe:
Options :

262857645, % cannot machine simultaneously with the cutting tool in the square tool post

762857646, % cannot carry.out drilling on the work

762857647, ¥ Can perform boring operation

762857648, % Cannot perform tapping

Question Number : 7 Question Id : 762857162 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



LT A (turret lathe) H 2@ 7 3R, I

Options :

262857645, % CoToT o 9T & Faa HER (cutting tool) & Ty, T @y AT 7 T WS €

FI-a5] (work) T BfereT g ¢ wa €

762857646. %

: : -
762857647, ¢ e F 4 T T §

762857648, % T 8T X Wb &

Question Number : 8 Question Id : 762857163 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Cast iron is produced from pig iron in:
Options :
762857649, % @ gas fired kiln

762857650, % a blast furnace

762857651, v A cupola

762857652, % the Bessemer process

Question Number : 8 Question Id : 762857163 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
F= Ag (pig iron) T &elaT oigr (Cast iron) & T fFar Fmar #

Options :



762857649, % TH ST &7 (gas fired kiln )

62857650, % IedT STE (blast furnace)

762857651, ¢ HIreT (cupola)

762857652, % SUHI-SRH (Bessemer process)

Question Number : 9 Question Id : 762857164 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Electric resistance welding:

Options :

762857653, % Uses an AC arc to join two metal parts
762857654, % USes microwave energy to.melt the metal
762857655, % USes argon inert gas shielding

762857656, « Passesa high current through two metal parts in contact which are to be joined

Question Number : 9 Question Id : 762857164 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

faega wfade afesar & |

Options :

Jeonerees, » TG F A THES F FEA F T AC A F 3T BT A §



B arg & Rues ¥ v AsEeT w41 #1593 & aer g

62857655, % S 3Teha 3 MfeseT & 9T fhar Frar

762857656, ¢ S S Al U & ST Tohe, S OF E F W A, F @ I U e A €

Question Number : 10 Question Id : 762857165 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

During a machining operation, heat from work piece is carried away by the coolant by the mechanism.
Options:

762857657, # Radiation
762857658, % Phase change

762857659, ¥ Conduction

762857660, « Convection

Question Number : 10 Question Id : 762857165 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T FelfaT IR & g, #1098 (work piece) ¥ fAwer arelt FAT TR &
aeA ¥ 2w (coolant) g fAswfim fmm e 21

Options :
762857657, % =T (Radiation)

262857658, % TEEAT IRETw (phase change)



262857659, % =netel (Conduction)

262857660, v T8 (Convection)

Question Number : 11 Question Id : 762857166 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What would be used to (manually) remove the burr after drilling a hole?
Options :
762857661, + Round file

762857662. % Hacksaw

762857663, * Flat file

762857664, # Chisel and hammer

Question Number : 11 Question Id : 762857166 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
W%ﬂmﬂ?waﬁgﬁﬁﬁ(bumﬁ(mmﬁ)Rﬁ%ﬁvsﬁﬁ@mﬁﬂﬁm
ST T

Options :

762857661, v 1 et (Round file)

262857662, % AT (Hacksaw)



762857663, * el Xar (Flat file)

262857664 % DT HIT gAter (Chisel and hammer)

Question Number : 12 Question Id : 762857167 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A20 cm diameter pulley rotating at 240 rpm transmits power via a belt drive. Tension in the slack side and driving side

of the belt is 10 kg and 50 kg, respectively. The power transmitted is:
(Take ‘g’as 10 ws?)
Options :

762857665, # 2010 watts

762857666. « 1004 watts
762857667, % 300 J/sec

762857668, % 1.25KkJ

Question Number : 12 Question Id : 762857167 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

240 rpm R GFF &R 20 em T A 0 A a7 59 F AW § 9T TG A 4 I &
T WES 3N 5T WEE & a9 A 10 kg 3 50 kg §1 wRE afdq & a4 (g = 10

mis? A7 ¥)
Options :

762857665, ¥ 2010 IE

762857666, v 1004 a1



762857667, % 200 J/sec

762857668. % 1.25 kJ

Question Number : 13 Question Id : 762857168 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Anplain milling cutter has a feed of 0.1 mm/tooth, total cutter travel 120 mm, 200 rpm and 6 teeth. Calculate the time

required per cut.
Options :

762857669, « 1 minute
762857670, ¥ 12 minutes
762857671, % 10 minutes

762857672, % 3 minutes

Question Number : 13 Question Id : 762857168 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

W vt Ao #et & 915 0.1 mmiooth, 7 7 B 21 120 mm, 200 rpm 3K 6 7 &) T
#T & 0 T gAY & a0 )|

Options :

762857669, v 1 TH=E

762857670, % 12 fAeE



762857671, * 10 fA=1e

762857672, % 3 AT

Question Number : 14 Question Id : 762857169 Question Type : MCQ Option Shuffling: Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A pattern in foundry work:
Options :
762857673, # 1s made of sand

762857674, w 1S @ model of the desired casting
762857675, % 1s held in a tool-post during casting

762857676, % is used for gripping cores

Question Number : 14 Question Id : 762857169 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

W35 T (foundry work) #H e

Options :

762857673, * 3o H el g @

762857674, ¢ IS FIEET FT T Hisel gl &

762857675. # FT FIECT F FRA T goi-HIc H gereT ST §



62857676, T BUART BRI &I Fehsa & forw fomar =mar 2

Question Number : 15 Question Id : 762857170 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A surface plate:

Options :

762857677. « 15 used as a reference surface for measurements

762857678, % has a rough surface finish
762857679 % 1s the milling machine work table

762857680 % 1s an aluminium plate

Question Number : 15 Question Id : 762857170 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Tl Teic (surface plate) |

Options :

62857677 & BT ST AT & [T U W ddg & w9 H Ghar S

Fr wagr feferer gEed g &

762857678. #

762857679, % THTCIT T Teh TaeT gl @

762857680, % T °° e <o gl @



Question Number : 16 Question Id : 762857171 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The largest alloying element in common HSS cutting tools is:
Options :

762857681, # Vanadium

762857682, % Chromium

762857683, % Carbon

762857684, « Iungsten

Question Number : 16 Question Id : 762857171 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HART HSS @de A9 (cutting tool) # Felifoe wgaa &4 org a #iw & 7
Options :

762857681, % ATSTT

762857682, % FIETH

762857683, # FEA

762857684, ¢ CIECd

Question Number : 17 Question Id : 762857172 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

2nd position

Datum surface

In the sine bar + slip gauges system in the given figure:

Options :

762857685, % he sine gauge length is being verified

762857636, % the surface finish of the component uppersurface is being measured

762857687, % the slip gages are being calibrated

762857688, « (e angle between the component upper surface and the surface resting on the sine bar is being measured

Question Number : 17 Question Id : 762857172 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Dial gauge i
1sLposition  <a Pasition
'
N
rnponent
N
Slip
gauges

Datum surface

& S iy & vefifa wea an + fEew A St & F e o @ 82



Options :

262857685, % TS 3T IETE H FeaTd faAr ST @7 7

62857636, * TEH I FUT TAE I HAG! ThieTel & AVA FhaT T @I &
762857687, % fEoa 15T (slip gages) = 3nfra Sar T W 8

762857688, ¥ TeF & FH T AR We AR R fer g5 Feg o N o o oy A o < @ €

Question Number : 18 Question Id : 762857173 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the INCORRECT statement about multi-flute twist drills.

Options :
262857689 % The flutes provide a passage for cutting fluid
762857690, ¢ Their helix or rake angle is zero

262857691 % Chips produced during drilling come out through the flutes

262857692 % Multiple flutes give higher metal removal rate

Question Number : 18 Question Id : 762857173 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
T W T e f3a (multilute twist dills) & A & R F § Fi 71 F o0 o7

Options :



TEE Fd &9 H AT FET A 8

762857689. #

262857690, @ 2T gforerd 0T AT I FI0T (rake angle) LA BT &

B =19 & g 309w B9 weE (flutes) & @meTw ¥ TR fAwed &

762857691, #

62857607, % TPITR TS TG fASHE0T & 359 & 9aTH A @

Question Number : 19 Question Id : 762857174 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There is no slippage between the driving and driven elements during power transmission by the:
Options :
762857693, * V-beltand pulley

762857694, % disc clutch

762857695, ¢ &€l drive

762857696, * Topeand pulley drive

Question Number : 19 Question Id : 762857174 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

_ Faam U 9 0 o g § 3R S @ e 0 & A A e

(slippage) ! geT &

Options:

62857603, « V-So€ 3R FARE (V-belt and pulley)




62857604 % [3€F Ford (disc clutch)

762857695, v [PTOX 3184 (gear drive)

762857696, % T 3k e s1s9 (rope and pulley drive)

Question Number : 20 Question Id : 762857175 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A stepped drive to obtain different spindle speeds in a machine is based on a:
Options :
762857697, % Hydraulic drive

762857698, % Steépper motor
762857699, * Iackand pinion

762857700, v Stepped cone pulley drive

Question Number : 20 Question Id : 762857175 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fordh wellr oo et 1 S et & foT ST #0389 (stepped drive) W
FrIRE 8T gl

Options :

762857697, % SEEICC ]



762857698. # TR AKX

762857699, # &EF E'ﬂT ICIGEG)

ITT T TolI ST
762857700. + e =

Question Number : 21 Question Id : 762857176 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the INCORRECT statement regarding operation of the lead screw of a lathe.

Options :

762857701, % Square threads are not convenient for use due to difficulty of disengagement of the split nut.
762857702, % Rotary motion is converted to linear motion of the carriage.

762857703, % It is used when thread cutting is to be done.

762857704, « 1he lead screw has a separate independent motor to operate it.

Question Number : 21 Question Id : 762857176 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g (lathe) = @5 T & OO & §IY H ITdd FUT H T9F |

Options :

ferere ¢ & fouia wadh ey Y 39 ¥ @@ 98 (Square threads) 39T & v gfeuraws
762857701, % 7 @A ¢l

 goff oify & = & s oY & waafa & smar &

762857702, % =~



262857703, % SHT 3IAET A« fEar AT 8, F§ U5 HicA Fer g g

SH HaIfold @e & folT oS &% # T 37T Al gl g

762857704, ¢

Question Number : 22 Question Id : 762857177 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a definite disadvantage of a crossed belt drive?

Options:

762857705, % 1t gives a higher angle of contact.
762857706, % The belts may be made of rubber.
762857707, ¢ The arrangement can lead to rubbing of belts where they cross each other.

262857708, % 1t produces rotation of the driven pulley in the opposite direction to the driving pulley.

Question Number : 22 Question Id : 762857177 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

/1 7 O #iF O F1s 95 3159 (crossed belt drive) Fr v AT ofa 32
Options :

62857705, % T8 HUETRT I== WIh HIUT Jel HI ¢

762857706, * THT ¢€ TR & Tl & Fehel &



762857707, v T8 caatdl I ¥ A5E & Th gAt & IR FA 9 T N T3 3% @1 Tl ¢

T¢ Tt AT (driven pulley) # Teer R (driving pulley) &Y foedia foar & g 3evewr el
762857708, % ¢

Question Number : 23 Question Id : 762857178 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following dimensions are given:

Hole diameter 25 mm +0.02/-0;
Shaft diameter 24.98 mm +0.03/-0.01.
The type of fit is:

Options :
762857709, # interference fit

762857710, % Shding fit

762857711, # clearance fit

762857712, « transition fit

Question Number : 23 Question Id : 762857178 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fa=faf@a fFamw & =5 &

&g &1 =39 : 25 mm +0.02/-0;

AMFE =T =41H © 24.98 mm +0.03/-0.01

Iz g vt &1 e (fit) 7




Options :

262857709, % FEXBLH e (interference fit)

762857710, % TemsiEer e (sliding fit)

62857711 % TFoALE T (clearance fit)

262857712, ¥ grferera e (transition fit)

Question Number : 24 Question Id : 762857179 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The desired property of a cutting fluid is:

Options :

762857713, % 1o aid in machining by corrosive action
262857714, « 10 lubricate the metal cutting process and reduce power consumption
762857715, % to heat the tool for ease of machining

762857716, %< ahigh calorific value

Question Number : 24 Question Id : 762857179 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

SIH W FId T Hold g@ H AMOT 0T g2

Options :

62857713, % TETReR THIT SART FATAT F AT 31




762857714.¢ 19 Fea HT I A T ToT FT AT el F @ud #7 FH Fer

762857715, % HATAT H H@EAT & fow AR Fr 77 FAT

762857716, % =4 R AT el

Question Number : 25 Question Id : 762857180 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hydrostatic lubrication:
Options :

762857717, % is used with roller bearings
762857718, % is used with thrust ball bearings
762857719, v Uses supply of lubricantat high pressure through holes in the bearing shell

762857720, % invelvessupply of oil at atmospheric pressure to the bearing

Question Number : 25 Question Id : 762857180 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gardfas =g (Hydrostatic lubrication) I

Options :

262857717, « T 3TAET e Rraier & @y GFar Aar

262857718, % T 3UANET YFE qler THANGT (thrust ball bearings) & ®rer far ST 7



A o 9@ (bearing shell) # s 3t & Amam & 359 g R &g (ubricant) mfe & 3w
762857719, v [ T

ergaryaq, x T THURET Y AT Z T Ae F A FET BT A anfEver &

Question Number : 26 Question Id : 762857181 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hexagonal nuts are preferred over octagonal nuts because:
Options:

762857721 % the spanner has to be turned through a smaller angle to get the next hold on the nut
762857722, % the spanner is more likely to slip

762857723, # there will be less load on the threads

762857724, the spanner will have a better grip on the nut

Question Number : 26 Question Id : 762857181 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FEHUI 7t (octagonal nuts) & JoaT # SEHNT 7 (Hexagonal nuts) F e & el ¢,
E2IEY |

Options:

762857721, % AT T I 9F3 U & U FA F e g ol 0T W GHET 9541 §



762857723, % I8 W &3 FH g

4
762857724, v A€ T TIAT H 9gR IHg gl

Question Number : 27 Question Id : 762857182 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The process of hot riveting produces:
Options :
762857725, v A leakproof joint

762857726, % @ temporary joint

762857727, % fusion of the plate material at'the joint

762857728, % slag which requiresuse.of a flux

Question Number : 27 Question Id : 762857182 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a7 @ (hot riveting) & 9fhar & == & & a7 g1 82
Options :

262857725, T RETERIET Fs Fr AT g §

762857726, % U AR S5 T AT gIr &



2857708 % AT (slag) 39wt B &, Torme fOT worgg & 39T B HETFr g &

Question Number : 28 Question Id : 762857183 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If there is a variation in the feed rate of the cutting tool during thread cutting, it will cause:
Options :

762857729, # error in minor diameter of the thread

762857730, % ©ITOr in depth of the machined thread
762857731, % ©ITOr in major diameter of the thread

762857732, « CITOr in the pitch of the thread

Question Number : 28 Question Id : 762857183 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 9 FE & 2, Pt ST H BF T A TN AT, A TE W g
Options :

762857729, % 9= &F &Y UM (minor diameter) H Eﬁ'

2857730, % Feffeer T 1T 95 (machined thread) T 7gas & 3¢

762857731, % % & & =rE (major diameter) H JfE

762857732, ¢



9 & RE AR

Question Number : 29 Question Id : 762857184 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A pitch measuring machine measures the pitch of external threads by:
Options :

762857733, ¥ placing a stylus between the flanks of 2 successive threads

262857734, % using feeler gauges

762857735, % Using a microscope

762857736, % using vernier caliper

Question Number : 29 QuestionId : 762857184 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
R A= Al wefer g Rl 95w fr R 7 Amw B gew fRr S 22

Options :

£

262857733, PN FTH& Y5 & qreal (Flanks) & & T TESad @

262857734, % PO IS FH 3TTMET Flh

762857735, % TTESHIERIT ST ITART FTh

262857736, % T eI T 3TAET Fh



Question Number : 30 Question Id : 762857185 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A gear fitted on a shaft by a (saddle) key:

Options :

762857737, % 1S @ permanent joint between the gear and shaft
762857738, « SEIVes to transmit power between the gear and shaft
762857739 % uses meshing threads between the hub and shaft

762857740, % allows axial movement of gear on shaft

Question Number : 30 Question Id : 762857185 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
(Hze) Feir @ amwe W e farar wmar fng,

Options :

2857737« AT AR emUE F @ vw wnE Sis ger d

62857738 . BT AR e F @ ufFd gERE aRe F FE waT §

767857739 % B9 IR o F &= AR 9% (meshing threads) @1 3YGET HET ?.'

J62857740, « TTFE T P A 3mefim A (movement) F sgET HIAT &

Question Number : 31 Question Id : 762857186 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The process of carburizing steel:
Options :
762857741« adds carbon into the surface layer

762857742, % hardens the core of steel components

762857743, % reduces carbon content at the surface

762857744, # adds nitrogen to the surface

Question Number : 31 Question Id : 762857186 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T T FeAUSTST FT FiHaT F FAT T 82
Options :

62857741 v TEE A H FET BT B Fmar §

TS & UeHl & P P FONIpd (ol ST &

762857742, %

62857743, & G T FES FHAT F FA fHAT AT §

62857744 % TCE H ASEI TATHT A §

Question Number : 32 Question Id : 762857187 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following statements is INCORRECT?

Options :

762857745, % Quenching of a metal is used for increasing its hardness.
762857746. ¥ Quenching of a metal is used for improving its machinability.
262857747, % Quenching of a metal is carried out after heating it to some desired temperature.

762857748, % ‘Quenching of a metal involves cooling it suddenly in a cooling medium.

Question Number : 32 Question Id : 762857187 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= # ¥ Fi9 & FuF Tad 27

Options :

262857745, % TG F 9T (Quenching) FT ITART ITH FIRAT TOH & ToIT AT ST ¢

62857746 T8 AR (Quenching) . 3FT ST FAATE (machinabity) 7 3fe e 3 ferv frar e 6

62857747 % T FT & (Quenching) =N e ST avAe W T = F 99 5 I g

S & IAF 7 30 e ofiqe Areww # 3Ews & G e anfde g gl

Question Number : 33 Question Id : 762857188 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hardenability of a steel specimen:

Options :



762857749, % is represented by Hooke’s law
762857750. ¢ determines depth and distribution of hardness obtained by quenching
762857751 % 1s a measure of resistance to plastic deformation

762857752, % determines quantity of cementite in the steel

Question Number : 33 Question Id : 762857188 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
ST & FAF (steel specimen) #H F3HOMTET (Hardenability)

Options :

762857749, % F gk & aH R Awie R S @

62857750, THA TIART Ao TGS F FORar & faawor & fuior e §

262857751, % BT f®ToT (plastic deformation) & 9Ty 1 A9 &

62857750 % SEAE H HIHCEE FT AT FT fAUROT HE

Question Number : 34 Question Id : 762857189 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
For quenching a steel part for increasing its hardness.:
Options :

762857753, % dquenching in air gives a very fast cooling rate



762857754, « WAler is used for quenching plain carbon steels
762857755, % alloy steel cannot be hardened by quenching

762857756, % radiative cooling is used as a cooling method

Question Number : 34 Question Id : 762857189 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
SN § & o1 $T FORAT qC &, T UHA F O H A A A 87

Options :

2857753 % TG H UHA $r ToE W 3T 9g AT T adar B

62857754, & OB Fa T (plain carbon steels) & A & T &l &7 e fRr AT §

62857755 % TENT THAT UG A FANT HERFA el foRar =T ehar &

6285775, « TEH BT F = F FRurceaw faew w1 9@ A AT 7

Question Number : 35 Question Id : 762857190 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

in a factory need to be fenced with a guard for safety of personnel.
Options :
762857757, % lemperature indicators

762857758, ¢ Flywheels of prime movers



762857759, # Tailstock of a lathe

762857760, % Store of welding rods

Question Number : 35 Question Id : 762857190 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
FREE H Al I R P G g GU&T W A W A= AT

Options :

762857757, % ATIHTA Hehciehl

LY o
762857758 ¢ el HH % FoTgeE e

62857759, % TG (lathe) & TorEelsh

762857760, % aTe=eT TS & #ER

Question Number : 36 Question Id : 762857191 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“Long continuous ehips are formed when turning ductile materials.” Select the INCORRECT statement regarding this

issue.
Options :
262857761, % Lhe chips can be a safety hazard for the operator.

262857762, % 1he chips can coil around the tool or workpiece.

762857763, % 4 chip breaker is used on the tool to break up the long chips.



762857764, « <hammer is used as chip breaker to break the chips as they form.

Question Number : 36 Question Id : 762857191 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T et Y AT WY gAY, W Ged W ae e £ 36 THE & 9y e FU
T H|

Options :

762857761, % forew, e & fow v geam dadr @ &t gFar gl

. =rew, AR o w9 35g (FF9W) & IETE F3fod & Jedl gl

762857762.

62857763, # T8 T F dlsa & fow, HER ¥ R s @ 3w G S gl

762857764, ¥ W#Wﬁﬁ?ﬂ?ﬁﬂ?ﬁwﬁmaﬁﬂ?mﬁwa&ﬂﬁﬂm%mmﬁl

Question Number : 37 Question Id : 762857192 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A CO, fire extinguisher:
Options :
762857765, % cannot be used with fires in electrical equipment

762857766. % contains carbon dioxide at 2 bar pressure

262857767, « Sxtinguishes fires by displacing oxygen from air surrounding the fire



262857768, % Produces CO, by a chemical reaction

Question Number : 37 Question Id : 762857192 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
CO, T AF & HaT H Hid & T &2

Options:

erasrres, % T I LT UHION H o 3T & fore @ foar S wepar &

262857766, * THH 2 T (bar) 1 I FES SEIATFAES HT FAT @

2857767 o TE 3T & HTEATE P Y F o Pl fTruie F T g ¢

Tg TEATAF FTRTHAT @r’r CO, 39+ Fam &

762857768. #

Question Number : 38 Question Id : 762857193 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is INCORRECT with respect to safety during gas welding?
Options :

762857769 # The welder should wear goggles.

762857770. ¢ The welder should wear synthetic nylon clothes.

762857771, % Lhe welder should wear asbestos gloves.

762857772, % Lhe welder should not expose gas cylinders to the flame.



Question Number : 38 Question Id : 762857193 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
35T & 2w R S A g F WY A AN ¥ 99 5 o 8

Options :

762857769, % Jo8T I TH (goggles) TgAA =T

262857770, v To3X 1 [HAfeTE Areia & F93 TEw Tfew
62857771 % TEE H VEETSIH F ETATS TgAA TMET

762857772, % WﬁwmaﬁqﬁﬂFMﬁﬁmﬁHMI

Question Number : 39 Question Id : 762857194 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An ellipse is generated when a plane intersects a cone:
Options :

762857773, % atan angle equal to the sloping cone surface
762857774, % ~atan angle of 90° with its axis

262857775, % atanangle less than half the apex angle and passing through the apex

262857776, « at an angle with its axis which is more than half the apex angle and less than 90°

Question Number : 39 Question Id : 762857194 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

78 7% 7@, e o & sfomoféd & &, o v dugea fafia a2
Options :

762857773. % EI?I;T - = i

762857774, % SHRI 38T & @Y 90° & T 9T

. Y 0T F AT F FA HOT W H AT F T IR g
762857775, % >

62857776, v SH FET & WY TF W P07 W, S Y F07 F 3 F a0 AW 90° ¥ FA

Question Number : 40 Question Id : 762857195 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Astraight line is parallel to the horizontal plane (constant ‘z’) and inclined to the vertical plane (inclined to X" axis). Its

front view will appear as a;
Options :

762857777, % straight line inclined to X" axis

762857778. % Point

762857779, « horizontal line parallel to X" axis

762857780, ¥ straight line inclined to “y" axis

Question Number : 40 Question Id : 762857195 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

W @ 1w, AT 0 (RN '2) F TR § 3R TR a9 (X 3 W A) W A £ SR
G 79 (front view) ¥ ¥ 7 femrs &m

Options:
762857777, % X 3&T 9T AT Hrelr T@r

762857778. # ﬁg

262857779 X 38T F THTAGR &fas W@

762857780, % Y & T AT el Y@

Question Number : 41 Question Id : 762857196 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Finishing and sizing of holes is done by
Options :

762857781, » Drilling

762857782, v Reaming

762857783, - Boring

765857784 % Centering

Question Number : 41 Question Id : 762857196 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



forgt & fafieT st aEfEET fras gamr #r s &2
Options :
762857781, * BerT (Drilling)

762857782, « el (Reaming)
762857783, » AT (Boring)

262857784, % HERAT (Centering)

Question Number : 42 Question Id : 762857197 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Annealing is NOT done to

Options :
762857785, # reduce hardness

762857786, « 1ncrease hardness

762857787, % refinegrain size

762857788, # facilitate cold working

Question Number : 42 Question Id : 762857197 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
TAITeRT (Annealing) F T 7gr Fr T 7

Options :



762857785, * HORET H HAT Hiad

762857786, v TR 7 3fe ==

762857787. # ol 5 i 3 e

maﬁmaﬁgﬁzﬂmw

762857788. #

Question Number : 43 Question Id : 762857198 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Drop feed oil lubrication is done by
Options :

262857789 % forcing through oil can

762857790, % Fumping

762857791, % SPring action

762857792, v help of gravity

Question Number : 43 Question Id : 762857198 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

5T BiE e g o Srar g
Options :

aer & Fe & wiffer garr

762857789. #



762857790. # X

foger BFar garr

762857791, #

TETTFYUT #T AeS

762857792. ¢ =2

Question Number : 44 Question Id : 762857199 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the dimension of the compound (component) is 20+0.02 mum, its tolerance is:
Options :

762857793, « 0.04 mm
762857794, % 0.02 mm
762857795, % 0.01 mm

762857796. # —0.04 mm

Question Number : 44 Question Id : 762857199 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oty ey Far3E (g Fr A 20£0.02 mm , & ST TETAT (tolerance) FT gRM?
Options:

762857793. v 0.04 mm

762857794, % 0.02 mm



762857795, # 0.01 mm

76285779, # —0.04 mm

Question Number : 45 Question Id : 762857200 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of nut is cylindrical in shape and has hole drilled in the curved surface for turning it with a tommy bar?
Options :
762857797, % Hexagonal nut

762857798, # Square nut
762857799, « Capstan nut

762857800. # Dome nut

Question Number : 45 Question Id : 762857200 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T ¥ Fi T A FoHR FGT & 21 § AR T el A% (tommy bar) ZENT W Ehe & for,
T 3 96 H 0 (05 41 §7

Options :

62857707 % WEHIUNT AT (Hexagonal nut)

262857798, # TR A< (Square nut)

262857799, ¢ Tre A¢ (Capstan nut)



262857800, ¥ =7 7 (Dome nut)

Question Number : 46 Question Id : 762857201 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to BIS, the length to width ratio of A0 size drawing sheets is maintained by which ratio?
Options :

762857801, ¢ V2 i1

762857802, % 1:V2
762857803. % 2:1
762857804, % 1:2

Question Number : 46 Question Id : 762857201 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

BIS & 3N, AQ ¥@R aTer 37T alie & &g N T F Hepr A (6 A T A 2

Options :

762857801, W V2 1 1

762857802, % 1 :V2
762857803, % 2 : 1

762857804, % 1 1 2



Question Number : 47 Question Id : 762857202 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

(Large) Irregular or eccentric objects (work-pieces) can be clamped (on a lathe) by:
Options :
762857805, % three jaw chuck

762857806. # collet chuck

762857807, # magnetic chuck

762857808, v four jaw chuck

Question Number : 47 Question Id : 762857202 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

79, ¥fafiE T e TEgH (FE) e (lathe) W ZaRT FlT 3R e g

Options :

762857805, % 3-=1.7h
762857806, % EhIele Teh
TSHT TH

762857807. % =2

762857808, ¢ 4511 =eh

Question Number : 48 Question Id : 762857203 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Counter boring is done to:
Options :

762857809, # accommodate heads of countersink screws

762857810, % finish a hole to required diameter
762857811, % produce truly circular holes

762857812 « accommodate bolt heads. stud and pin

Question Number : 48 Question Id : 762857203 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

g (F3ex aifen) Fafer Fr adr 22
Options :

FeE® T (countersink screws) F T (head) #F FAMITAT Fa & faw

762857809. #

762857810, % TOF @I ATSd SUTH o ThiAARIeT & & forw

oF Feaer B a@e F v

762857811. ®

762857812.¢W3€,R€3ﬂ1ﬁ?aﬁmﬁﬁmé€ﬁm

Question Number : 49 Question Id : 762857204 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Double helical gears impart to shaft.
Options :

762857813, % low axial thrust

762857814, % medium axial thrust

762857815, « o axial thrust

762857816. % high axial thrust

Question Number : 49 Question Id : 762857204 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

saa gforerer e, owe & oI I &
Options :

262857813, % TwFe 3ETT JUNE (low axial thrust)

62857814, % FEAH &I JUIE (medium axial thrust)

762857815, ¢ g eI T 9uilg 7@l (no axial thrust)

262857816 % 3= e gulE (high axial thrust)

Question Number : 50 Question Id : 762857205 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A micrometer has 0.02 mm negative error. If the micrometer reads 21.42 mm, then the actval reading is:

Options :



762857817. « 21.44 mm
762857818, # 21.40 mm
762857819, # 21.46 mm

762857820, # 21.38 mm

Question Number : 50 Question Id : 762857205 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T AP # 0.02 mm F FoTeRs e ¥ 2R AEEE 2142 mm & 95w & & A

aTEde% ToU 4T E?

Options :
762857817, ¢ 21.44 mm

762857818. ¥ 21.40 mm

762857819, # 21.46 mm

762857820, ®# 21.38 mm

Question Number : 51 Question Id : 762857206 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The go plug gauge is the size of:

Options :

762857821, # lower limit of shaft



762857822, « lower limit of hole

762857823, % upper limit of shaft

762857824, % UPPEl limit of hole

Question Number : 51 Question Id : 762857206 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T o9 I (go plug gauge) % HTHR F 2T i
Options :

762857821, * UTHE I e HAT

762857822, v TOF T foes WA

762857823, % 2MFE I FIL HIAT

762857824, % TOF T FAL TAT

Question Number : 52 Question Id : 762857207 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a good safety practice in a factory?
Options :

762857805, % vvearing eye protection all time

762857826, % Using approved respirator while exposed to grinding dust



762857827, ¢ Wearing long sleeve shirt

762857828, % Using protective gloves around machine tools

Question Number : 52 Question Id : 762857207 Question Type : MCQ Option Shuffling: Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
fome & @ i & SRR # HUAG TS AT ST AT Fihar e g2

Options :

762857825, % €% 904 HIGET 9T GI&T Fa= g ol

T3 5T & W% & G0 eI @THAT (respirator) &1 3TTT HTal

762857826. #

62857807 « AT HTE ATel HATS TgaAe]

762857828, % AMA AR &F HEIH HI&TcHeS A=l =hl 3TN HLAT

Question Number : 53 Question Id : 762857208 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to BIS, all sheets are to be folded such that they reduce to:
Options:
762857829, % Al size

762857830, # A3 size

762857831. ¢ Ad size



762857832, # AJ size

Question Number : 53 Question Id : 762857208 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
BIS & 3w, el ofeh (sheets) &1 ¥ Hisar =fev & 3 weaw #r 3 F)

Options :
762857829, % A2 TR
762857830, % A3 TR

762857831, v A4 TR

762857832, % AD TR

Question Number : 54 Question Id : 762857209 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For finish turning operation, what should be the spindle speed, feed and depth of cut, respectively?
Options :

762857833, % High. high and high

762857834, ¢ High. low and low

262857835, % LOW. high and high

762857836, % High. low and high



Question Number : 54 Question Id : 762857209 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fefarer 2 afames (turning operation) & T, Tewger & 7y, B 3t F¢ & mEwg Fow: B
et fT?

Options:

762857833, % 3, F=H AR 3=4

62857834, v 399, faeT 3R =
62857835, % [, oA AR F=A

62857836, # 399, faFT 3R =4

Question Number : 55 Question Id : 762857210 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following drives imparts no slip?
Options :

762857837, % Belt drive

762857838+« Chaindrive

762857839, » Rope drive

762857840, % Friction drive

Question Number : 55 Question Id : 762857210 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
ﬁﬁﬁ#ﬁﬁ-ﬁwaﬂﬁa—qmm%?
Options :
762857837, % o€ F159 (Belt drive)

762857838, v = 3199 (Chain drive)

762857839, % T §15F (Rope drive)

762857840, ¥ fOherereT 2129 (Friction drive)

Section 2
Section Id : 76285718
Section Number : 2
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 45
Number of Questions to be attempted : 45
Section Marks : 45
Enable Mark as Answered Mark for Review and
Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 76285761
Question Shuffling Allowed : Yes

Question Number : 56 Question Id : 76285756 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Who was sworn in as the Chief Minister of JTharkhand in December 20197
Options :

762857221, % Babulal Marandi
762857222, % Shibu Soren
762857223, % Madhu Koda

762857224, «+ Hemant Soren

Question Number : 56 Question Id : 76285756 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

farer & @ foreer femat 2019 # s@s & FEgAd & &7 # 49y TE H?
Options :

762857221, % &

762857222, % "

762857223, % o

762857224, ¥ 33|E| A

Question Number : 57 Question Id : 76285757 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which state government has launched the Arundhati Gold Scheme in India?



Options :

762857225, % Bihar
762857226, ' Assam

762857227, % West Bengal

762857228, % Delhi

Question Number : 57 Question Id : 76285757 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
T ¥ &8 =T #r &R o 37ufd T90T AITr 3 & 272

Options :

762857225, # i Ll

762857226, ¢ JHH

762857227, % G FAMA

762857228. % feee

Question Number : 58 Question Id : 76285758 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which country successtully launched its largest carrier rocket named Long March-5 in December 2019?
Options :

762857220, % Japan



762857230. # Russia

762857231, « China

762857232, # UK

Question Number : 58 Question Id : 76285758 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 2019 & 9 291 & 9197 AR5 A 39 WE 9 HR Jehe F TG T 3R 82
Options :

762857229, % ATHlA

762857230, ¥ ®H

762857231, ¢ I

762857232, % fore=

Question Number : 59 Question Id : 76285759 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following important books did Kautilya write?
Options :
762857233, # Indica

762857234, % Samaveda

762857235, « Arthashastra



762857236. # Mahamavya

Question Number : 59 Question Id : 76285759 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

FifeeT & Fia H Ageaqor JFas forgr of?

Options :

762857233, # ‘E’iE l
762857234, % 3 3G

762857235, v HURTES

762857236, % eI

Question Number : 60 Question Id : 76285760 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Monopolies and Restrictive Trade Practices (MRTP) Act, 1969 was repealed to give way to the . 2002,

Options :
762857237, # Sick Industrial Companies Act

762857238, # Sick Textile Undertakings (Nationalisation) Act

262857239 % Recovery of Debts due to Banks and Financial Institutions Act

762857240, ¥ Competition Act



Question Number : 60 Question Id : 76285760 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TR U9 Fiqaee R (MRTP) sffaas, 1969 (Monopolies and Restrictive Trade Practices
(MRTP) Act, 1969) & 2002 F1 AW REd A 5 v m R
Options :

762857237. # i

262857238, * TIUT HUSI-IUHH (TSEI=R0T) Hiafegs

62857930, % dol vF faedT FEuE & HROT KT H SHeAl AT ATH

762857240, v FaETT AFfAfATH

Question Number : 61 Question Id : 76285761 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Kuchipudi dance form traces its origin to the state of:
Options :

762857241, ¥+ Kerala

762857242, % Manipur

762857243, + Andhra Pradesh

762857244, * Odisha



Question Number : 61 Question Id

: 76285761 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FHIEGEr 7 Ao Hr Feafed

T ¥ 5% 2

Options :

762857241, % P

ATUYT

762857242, % 3
762857243, v AT TR

762857244, % ST

Question Number : 62 Question Id

: 76285762 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

India holds the first position inthe world in producing which of the following fruits?

Options :

762857245,  Fapaya

762857246, %+ Grapes

762857247, % Orange

762857248, % Apple

Question Number : 62 Question Id

: 76285762 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
PRRT & 3 0 & & 3967 & AT § 919 99 § 9987 B W 7

Options :

762857245, ¢ 1 T

762857246. # &

762857247, % RN

762857248, * A

Question Number : 63 Question Id : 76285763 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Where did King Rana Kumbha built the Vijay Stambh?

Options :

762857249, % Jodhpur

762857250, v Chittorgarh

762857251, %, Mandu

762857252, % Kumbhalgarh

Question Number : 63 Question Id : 76285763 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



o FHAT F ST TaFer v AT FEr wErar ar

Options:

762857249, % 2

762857250. ¢ iIEEHE %

762857251, # o

762857252, % =

Question Number : 64 Question Id : 76285764 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The word *tsunami’ traces its origin to the language.
Options :

762857253, % German

762857254, % TPortuguese

762857255, « Japanese

762857256, % “Chinese

Question Number : 64 Question Id : 76285764 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

AT (tsunami) oeE ¥ SEH AT § e @ 9 o g

Options:



762857253, % A

762857254, % 2

762857255, « SATATaAT

762857256. # =Tt

Question Number : 65 Question Id : 76285765 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following national parks is NOT situated in Rajasthan?

Options :
762857257, % Sariska Tiger National Park

762857258, % Keoladeo National Park
762857259, + Kanha National Park

762857260, ¥ Ranthambore National Park

Question Number : 65 Question Id : 76285765 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
AT 7 @ #iF o1 7857 35u= gy # g a6 82

Options :

762857257, % 2 = ﬁ .




762857258, % AT TEIT 35T
762857259, v Treel 1 < 3T

762857260. # i \

Sub-Section Number : 2
Sub-Section Id : 76285762
Question Shuffling Allowed : Yes

Question Number : 66 Question Id : 76285766 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the energy possessed by an object of mass 20 kg when it is at a height.of 6 m above the ground.
2 g}

(Giveng=10ms™)

Options :

762857261, % 1207
762857262, « 12007]
762857263, % 120 W

762857264 % 1200W

Question Number : 66 Question Id : 76285766 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qf ¥ 6 m A F% W ASE 20 kg FF A W R # AT w9 79 v
(G m § g = 10 ms?




Options :

762857261, % 120 J
762857262, v 1200 J

762857263, % 120 W

762857264, % 1200 W

Question Number : 67 Question Id : 76285767 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The quantity of heat generated in a conductor does NOT depend on the:
Options:
262857265, % square of the current

762857266, % resistance of the conductor

762857267, ¢ temperature of the conductor

762857268, # time for which the current flows

Question Number : 67 Question Id : 76285767 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
BT =Tees H 3w FOAT fT AT g7 38T 78 Far 2

Options:

762857265. # *-" o F T




762857266, % HIelh & gy

262857267 « TTeeR o dTIHT

262857268, % ORI FEI & HAZY

Question Number : 68 Question Id : 76285768 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An object that is 8 em in size, is placed at 20 cm in front of a concave mirror of focal length 15 cm. At what distance in

front of the mirror should a screen be placed in order to obtain a sharp image?
Options:

762857269, % 30cm
762857270. # 40cm
762857271. % 50 cm

762857272. « 60 cm

Question Number : 68 Question Id : 76285768 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8cmmaﬁrwaﬁrﬁ15cmuﬁwqﬁmﬁmaﬁw$m20cmaﬁrqﬁwwwh
T STafee S 06 o o B g9 & Rt g W T o e

Options:

762857269, ¥ 30 cm

762857270, ¥ 40 cm



762857271. % 20 cm

762857272. ¢ 60 cm

Question Number : 69 Question Id : 76285769 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Compounds with identical molecular formula but different structures are called:
Options :

762857273, % 1sotopes
762857274, « 1somers
762857275, % isobars

762857276. % lisotones

Question Number : 69 Question Id : 76285769 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
FAE AT g, fong e wemamsit arer difet @t Far e sar 27

Options :

762857273, % THEUTF (isotopes)
762857274, v BEETE! (isomers)

762857275, THEANT (isobars)



J62857276, % TEEIEIe (isotones)

Question Number : 70 Question Id : 76285770 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following solutions has pH 7?
Options :
762857277, % Ammonium chloride

762857278, % Copper sulphate
762857279, % Sodium carbonate

762857280, « Sodium chloride

Question Number : 70 Question Id : 76285770 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
fF=fofea d o 5y Tows &1 9vg A7 7 @ar &7

Options:

762857277. % HAATH o=

762857278, # HIR Tehe

762857279, # AT Frelde

762857280. ¥ RIS FNTEE



Question Number : 71 Question Id : 76285771 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Arrange the following metals in the order of their decreasing activities.

Potassium, Gold, Magnesium, Copper
Options :
762857281, % Gold, Magnesium, Copper. Potassium

262857282 % Magnesium. Gold, Potassium, Copper
762857283, v Fotassium, Magnesium, Copper, Gold

762857284, % ‘Copper. Potassium, Magnesium, Gold

Question Number : 71 Question Id : 76285771 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fr=fof@a agsi #1 3ot gedt affrmdear & &7 & svefg &1

Options :

762857281, # Mes, A7 RITH, FH, efRTH

762857282, % HIARITH, IMoE, ERITH, IR

762857283. ¢ ms ﬁ?;nﬁ"”“: d-:T‘-I{, Mes

762857284, % I, qte AT, ﬁaa'-ilii%run, s



Question Number : 72 Question Id : 76285772 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following hormones inhibit(s) growth in plants?
Options :
762857285, « Abscisic acid

762857286. % Gibberellins

762857287. % Auxins

762857288, % Cytokinins

Question Number : 72 Question Id : 76285772 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T § o s o g3l gt F§ S & a1 e e 82
Options :

762857285, v TeHIHeER 3T

762857286 % EENEE

762857287, % 3 FA

762857288. # ! ‘EI Ei I



Question Number : 73 Question Id : 76285773 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following acids facilitates the action of the enzyme pepsin in human digestion?
Options :

762857289, # Nitric acid

762857290, % Sulphuric acid

762857291, ¢ Hydrochloric acid

762857292, % Benzoic acid

Question Number : 73 Question Id : 76285773 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pfefia # 7 77 o 39 A F TR 39§ oftes 70F TEE & B A e e §
Options :

762857289. ® s ; I

762857290. * N D

762857291. ¥ EIE’;" e 3

762857292, ® Agd IHFe

Question Number : 74 Question Id : 76285774 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following options have both the flowers bisexual?
Options :
762857293, % Papaya and Watermelon

262857294 % Hibiscus and Papaya

762857295, % Watermelon and Hibiscus

762857296, @ Hibiscus and Mustard

Question Number : 74 Question Id : 76285774 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
far=fafea & & f5a fee & fGw arv aat oo ssafeeh g &2

Options :

762857293, # e o

762857294, ¥ 5

TS UF =g
762857295, % Ve a2

IEEA U HIET
762857296, ¥ 2

Question Number : 75 Question Id : 76285775 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the change in the total energy of a body falling freely towards the earth?



Options :

762857297, % It will increase.
762857298, # It will decrease.
762857299, + It will remain the same.

262857300, % 1t Will increase initially and then decrease.

Question Number : 75 Question Id : 76285775 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TFd & @ g2 &1 3R B Al avg Y $7 s 7 7 IRaaa geme
Options :

762857297. % : E‘[@- gt

762857208, % O FHT BN
762857299, v FOH FI§ TR el g

62857300, % TE H FHH & ERN AR T FA v

Sub-Section Number : 3
Sub-Section Id : 76285763
Question Shuffling Allowed : Yes

Question Number : 76 Question Id : 76285776 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



P’s salary is 2800 per month and Qs salary is 210,800 per annum. Find the ratio of P’s salary to Q’s salary.

Options :

b2
T

762857301. #

762857302, ¢ 8:9

I~

762857303, % 1l:

762857304, % 6:9

Question Number : 76 Question Id : 76285776 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

P &1 Afew dnw 2 800 § A Q & a1fSw 3w 110,800 B1 P & 3 3K Q.F 3o & W 1
CIIE]

Options :

762857301. % 2 : 3
762857302. ¢ 8 : 9
762857303, % 11 12

762857304.% 6 1 9

Question Number : 77 Question Id : 76285777 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 40% of a number is 40 less than 60% of that number, then the number is:
Options:

762857305, % 600



762857306, ¥ 400
762857307. « 200

762857308, # 100

Question Number : 77 Question Id : 76285777 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

atg el g # 40%, 3§ FET & 60% ¥ 40 FH g, af FEdr Aa ATl
Options :

762857305, % 600
762857306. % 400
762857307. v 200

762857308, # 100

Question Number : 78 Question Id : 76285778 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Amif purchased a car for 22,00,000 and a bike for 1,00,000. He sold the car at a profit of 10% and the bike at a loss of

10%. What is the net ain or loss?

o

Options :

7
;% loss
762857309, #



8
- 9% profit
762857310, # 3

12
— 00 loss
762857311. % 5

10
— 04 profit
762857312, ¢ 3 P P

Question Number : 78 Question Id : 76285778 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HAT 7 22,00,000 F T FW 3N 1,00,000 # v TEF GG /A FW A 10% F o WA
e 1 10% H g T &7 ol @ o 1 g A Aol

Options :

E% HIGH

762857309. ¥ 3

8
— 04 o
762857310. # 3

Zop FriH

762857311, % 5

10
—O0h oImeT
762857312+ 3

Question Number : 79 Question Id : 76285779 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Atrain runs at a speed of 90 km/h and crosses a 220 m long platform in 30 seconds. What is the length of the train?
Options :

762857313, # 750m



762857314, % 320 m

762857315, ¢ 330 m

762857316, # 240 m

Question Number : 79 Question Id : 76285779 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

90 kmh & T ¥ T T OF T 220 m 79 wew@ # 30 3% F W W A ¢ I A

A5 A e

Options :

762857313, % /90 m

762857314, % 320 m

762857315, ¢ 230 m

762857316, * 240 m

Question Number : 80 Question Id : 76285780 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If P, Q and R together can finish a piece of work in 20 days, P alone can finish the same work in 40 days and Q in 50

days, then in how many days can R alone finish the work?
Options :

762857317, » 60 days



762857318, % S0 days

762857319, % 100 days

762857320, v 200 days

Question Number : 80 Question Id : 76285780 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

7 P, Q 3 R @& wr o ol a7 &1 20 ot # @R W € P o S A 40 fem
B A Q a3 A A 50 o A 90 A ww 81 R e S A e fod o o R e
4

Options :

762857317, % 60 f&a

762857318, * 80 f&=
762857319, * 100 f&=

762857320, v 200 f&a

Question Number : 81 Question Id : 76285781 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The greatest number that exactly divides 119, 1015 and 2450 is:
Options :

762857321, % 119

762857322. ¢ 7



762857323, % 14

762857324, % 2450

Question Number : 81 Question Id : 76285781 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 9§ T T A AT, 119, 1015 3R 2450 F g Renfaa w2
Options :

762857321, % 119
762857322. ¢ 7
762857323, % 14

762857324, % 2450

Question Number : 82 Question Id : 76285782 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At what simple interest rate percent per annum will a sum of money triple in 12 years?

Options :
25
— 0%
762857325, # 3
25
— 0%

762857326, % 2

762857327. ¢



50
|

—%
762857328, % 3

Question Number : 82 Question Id : 76285782 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
forerat e afies TURUT &0 Y @7 W Alg U 12 9 A T9T & A A g A

Options :

25
_—19
762857325, % 3

73
762857326, # 2

50 4
i
762857327. « 3

14
T bl
762857328. ®# 3

Question Number : 83 Question Id : 76285783 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The difference between the compound interest and simple interest on a certain sum of money at an interest of 10% per
annum, compounded every year for 2 years is 412. The sum of money is:

Options :

762857329, ® 30.000



762857330, % 28,200
762857331, v 41,200

762857332, % 116,800

Question Number : 83 Question Id : 76285783 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

% R oI W 10% T s T W 2 T A T 2 O Twgie el AR AR 9
T HR 412 §, Faleh U 1 0 A ThgTE HUR W & Sl ¢ SR A |

Options :

762857329, ® 330,000

762857330, % 328,200

762857331, v 341,200

762857332, % 116,800

Question Number : 84 Question Id : 76285784 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Find the area of a regular hexagon whose perimeter is 24+/3 cm.
Options :

2
762857333, % 48V3cm

762857334, % 48 cm?



762857335, % 16V3 cm?

2
762857336, v 723 cm

Question Number : 84 Question Id : 76285784 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
3 TANCHS FT 8NFd A e, fF@wr aR#ArT 2443 cm gl

Options :

2
762857333, % 48vV3cm

762857334, % 48 cm?

762857335, % 163 cm?

2
762857336, v 723 cm

Question Number : 85 Question Id : 76285785 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the area of a trapezium whose two parallel sides are 22 cm and 24 cm and the distance between them is 15 em.
Options:

5
762857337. # 46cm”

5
762857338, % 264 cm”

762857339, ¢ 345 cm?



5
762857340, % 284 cm”

Question Number : 85 Question Id : 76285785 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

30 GHOW g 1 BhA A0 P, fwR 8 WA S A o 22 om 24 om g AR
37 &9 & g1 15 om

Options :

762857337, % 46 cm?
762857338, % 264 cm?
762857339, v 345 cm?

762857340, % 284 cm?

Sub-Section Number : 4
Sub-Section Id : 76285764
Question Shuffling Allowed : Yes

Question Number : 86 Question Id : 76285786 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following groups represents only input devices?
Options:
762857341, % Mouse, Keyboard, Printer

762857342 v Ieyboard, Mouse, Joystick



762857343, % Scanner, Speaker. Monitor

762857344, % Monitor, Mouse, Keyboard

Question Number : 86 Question Id : 76285786 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafof@a & & &9 &1 79 o saqe Basd & wefa war 87
Options :

262857341, % FT3E, Frars, e

62857340« PIEIS, HIZH, FAATEH

62857343, « TP, THRT, AlfAeX

b~
262857344, % TS, ATSH, FralE

Question Number : 87 Question Id : 76285787 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which operating system is designed specifically for application with fixed deadlines?
Options :
762857345, % Multiprocessor Operating System

262857346, % Distributed Operating System

762857347, v Real-time Operating System



262857348, % Desktop Operating System

Question Number : 87 Question Id : 76285787 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

forafofl # & ala o sfen fower, favary fuife wra-dm & ary smya &g fema frn
)

Options :

762857345, # F?Lﬁ'm HT X ﬁﬁm

fTedeaes e fawen

762857346. #

762857347, v RTC-CBH HIRfET wes

762857348, # %F:Ia—irtr H qiiéal ﬁm

Question Number : 88 Question Id : 76285788 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

CDMA in computer networks stands for:
Options :

762857349, ¥ Code Division Multiple Access
762857350, % Coding Division Mode Access

762857351, % Cable Division Multiple Access

762857352, % Code Division Manual Access



Question Number : 88 Question Id : 76285788 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
FEY AcaFy H HBTAT (CDMA) T q0T T &7 872

Options :

262857349, v P8 TBAISH HecITel THEH (Code Division Multiple Access)

262857350, % PiseT BT His vaw® (Coding Division Mode Access)

62857351 % Pael BT AT THAH (Cable Division Multiple Access)

262857350 X #1z fBdeer Agarer TFAH (Code Division Manual Access)

Question Number : 89 Question Id : 76285789 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many layers does the OSI model contain?
Options :

762857353, ¢ 7

762857354 % 3

762857355, % 4

762857356, % 9



Question Number : 89 Question Id : 76285789 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

MTES (0SI) Aser F gy o g 272
Options :

762857353, ¢ 7
762857354, % 3
762857355, % 4

762857356, % 9

Question Number : 90 Question Id : 76285790 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following represents valid steps to zoom into a document in MS Word 2019, so that it displays multiple

pages in the window?

Options :

762857357, « view Tab™ Select Multiple Pages under the Zoom group
762857358, . Review Tab > Select Multiple Pages under the Zoom group

762857359 % view Tab > Select Multiple Pages under the Window group

762857360, % view Tab > Select Multiple Pages under the Show group

Question Number : 90 Question Id : 76285790 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

TAFAfores & & a7 @ MS Word 2019 # ST & 50 T#R T &% & §E T e e £,
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Options :

o &F > FH 99 & HET HAfedTd USA I
762857357. ¢ & N5 3

762857358, % Reg &8 > 3 g9 & el AfoeTs Toist o

qhbﬁﬁ@#ﬁm Afecaer 93 o4

wH

762857359. #

T T > 9 AT F ST HiocTd U I
762857360, ¥~ 3 =

Sub-Section Number : 5
Sub-Section Id : 76285765
Question Shuffling Allowed : Yes

Question Number : 91 Question Id : 76285791 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to fill in the blank.

She < afew friends who can help her.
Options :

762857361, ¥ have

762857362, # had

762857363, ¢ has

762857364, % has had



Question Number : 91 Question Id : 76285791 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to fill in the blank.

She a few friends who can help her.
Options :

762857361, % have

762857362, % had

762857363,  has

762857364, % has had

Question Number : 92 Question Id : 76285792 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to fill in the blank.

My mother has become very weak and is vulnerable to infection.
Options :

762857365, % although

762857366. ¢ hence

762857367, % despite

762857368, % Whereas



Question Number : 92 Question Id : 76285792 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to fill in the blank.

My mother has become very weak and is vulnerable to infection.
Options :

762857365, % although

762857366, ¢ hence

762857367, % despite

762857368, ¥ Whereas

Question Number : 93 Question Id : 76285793 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that expresses the given sentence in passive voice.

Our teacher is showing a documentary film in the auditorium.

Options :

762857360, % A documentary film was being shown in the auditorium by our teacher.
762857370, % 4 documentary film is shown in the auditorium by our teacher.

762857371, % A documentary film being shown in the auditorium by our teacher.

762857372 « A documentary film is being shown in the auditorium by our teacher.



Question Number : 93 Question Id : 76285793 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that expresses the given sentence in passive voice.

Our teacher is showing a documentary film in the auditorium.
Options :

762857369, % 4 documentary film was being shown in the auditorium by our teacher.

762857370, % 4 documentary film is shown in the auditorium by our teacher.

762857371, % 4 documentary film being shown in the auditorium by our teacher.

762857372, « A documentary film is being shown in the auditorium by our teacher.

Question Number : 94 Question Id : 76285794 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that expresses the given sentence in reported speech.

I said to my friend. “Will vou be attending the meeting today?”
Options :
262857373, % 1told my friend if he would be attending the meeting that day.

262857374, v 1asked my friend if he would be attending the meeting that day.

262857375, % 1asked my friend if he would attend the meeting that day.



262857376, % 1asked my friend if he would be attending the meeting today.

Question Number : 94 Question Id : 76285794 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that expresses the given sentence in reported speech.

I said to my friend, “Will yvou be attending the meeting today?”

Options :
762857373, % 1told my friend if he would be attending the meeting that day.

262857374, v 1asked my friend if he would be attending the meeting that day.

762857375, % 1asked my friend if he would attend the meeting that day.

262857376, % 1asked my friend if he would be attending the meeting today.

Question Number : 95 Question Id : 76285795 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Parts of the following sentence are given as options. Identify the part that has an error.

[ am looking forward to meet your family.
Options :

762857377, % lam

762857378, % looking forward

762857379, ¢ 10 meet



762857380, * your family.

Question Number : 95 Question Id : 76285795 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Parts of the following sentence are given as options. Identify the part that has an error.

[ am looking forward to meet your family.
Options :

762857377, % Iam

762857378, % looking forward

762857379, « 10 meet

762857380, ¥ YOuI family.

Sub-Section Number : 6
Sub-Section Id : 76285766
Question Shuffling Allowed : Yes

Question Number : 96 Question Id : 76285796 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

762857381, % 9eld

762857382, % {To



762857383, @ TAFH

AL

762857384. % &

Question Number : 96 Question Id : 76285796 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
fA=fof@a 7 o acgs =g F1 7= fifEF)

Options :

762857381, % TeId

762857382, % L

762857383,  TA+H

762857384. * &~

Question Number : 97 Question Id : 76285797 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
mer e IIH T =T Fri=

Options :
762857385, % I T30

762857386, ¥ - PTIX

762857387, % MeP-TGNIE



762857388, % HOR-IE

Question Number : 97 Question Id : 76285797 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Ter A IIH HT =TT Fr

Options :
762857385, % I T30

762857386, ¢ TR

762857387, % QMeA-IHNTE

762857388, % HO-TTE

Question Number : 98 Question Id : 76285798 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

ﬁmﬁﬁaﬁﬂ‘uﬂw sreg & Torw 3= yaaET # I3a e
Options :

762857389, % SO

762857390, % 34r

762857391, * SREl

762857392, v HeRST



Question Number : 98 Question Id : 76285798 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

ﬁmﬁﬁaﬁﬁ‘aﬂw seg & forr 3T gamE=r # I3a fifET
Options :

762857389, # U

762857390, ¥ 34

762857391, % SRE

762857392, v HeRSAT

Question Number : 99 Question Id : 76285799 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks :0.25

TamTa oreg, & forer fAvr HifE

Options :

=
762857393. ¥ =2

762857394, ¥ 3HTTeT

762857395, * wier

762857396. * 2

Question Number : 99 Question Id : 76285799 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
‘TEETT g & e vt fife

Options :

=
762857393. ¢ =2

762857304, % 3¥TTerET

762857395, *® For

762857396. * =2

Question Number : 100 Question Id : 762857100 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

762857397. % FHfea FT FHA

clcndHled ch ol
762857398. * =2

g wE g

762857399. %

E%H HILAT
762857400. ¥

Question Number : 100 Question Id : 762857100 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

762857397, # Hfea AT FHIA

762857398. # T e

g S g

762857399. % =2

EI§H HILAT
762857400. ¢



